Fiberlight FireSterlers
Name of Applicant

Jashua Hollowy Name of Reviewer

Economic Development Grant Application Selection Criteria Summary (Economic Development Advisory Committee Scoring)

Score	Weight	Points		
(0-10)	20	200	Does the applicant demonstrate the project's economic development impact relative to the funds requested?	
(0-10)	10	100	Is the project in support of or consistent with local or regional economic development plans?	
(0-10)	5	50	Does the applicant have the ability to complete the project? Is management and/or administration capable?	
(0-10)	10	100	Does the applicant clearly demonstrate the extent to which the county economic development grant will bring other public or private funds to the project?	
(0-10)	15	75	Does the project deliver new, expanded or enhanced services, including bringing services to geographic areas of Klamath County, that are not currently well served, while avoiding duplication or displacement of existing projects, programs or funding?	
(0-10)	10	50	Does the applicant clearly demonstrate how they will work with economic development partners to successfully complete the project? Is there demonstrated community support? Is there evidence of in-kind support?	
(0-10)	10	70	Is there a strong evaluation method with measurable objectives?	
SUB-TOTAL	POINTS:	675		
Add Preference	e Points			
(0-100)		0	Project supporting economic development outside of the Klamath Falls urban growth boundary	
TOTAL POIN	NTS	S	ž	
Reviewer Conflict of Interest:				
Comments:				
-				
Do you recommend this project for funding: ♥ YES □ NO Partial funding: \$ 15,000				

Rame of Reviewer Wheelock

Economic Development Grant Application Selection Criteria Summary

(Economic Development Advisory Committee scoring)

Score	(*)	Weight	Points		
(0-10)	10	X 20 =	200	Does the applicant clearly demonstrate this project's economic development impact relative to the funds requested? (max points possible: 200)	
(0-10)	10	X 10 =	1.00	Is the project in support of or consistent with local or regional economic development plans? (max points possible: 100)	
(1-10)	_10_	X 5 =	50	Does the applicant have the ability to complete the project? Is management and/or administration capable? (max points possible: 50)	
(1-10)	10	X 10 =	(00)	Does the applicant clearly demonstrate the extent to which this grant funding will bring other public or private funds to the project? (max points possible: 100)	
(1-10)	ID	X 15 =	150	Does the project deliver new, expanded or enhanced services, including bringing services to geographic areas of Klamath County that are not currently well served while avoiding duplication or displacement of existing projects, programs or funding? (max points possible: 150)	
(1-10)	_(0_	X 10 =	100	Does the applicant clearly demonstrate how they will work with economic development partners to successfully complete the project? (max points possible: 100)	
(1-10)	<u> </u>	X 10 =	100	Is there demonstrated community and in-kind support? Is there evidence of in-kind support? (max points possible: 100)	
(1-10)		X 10 =	100	Is there a strong evaluation method with measurable objectives? (max points possible: 100)	
SUB-TOTAL POINTS: (Sub-Total max points possible: 900)					
Add Pre	eference F	Points			
(0-100)	¥.		_\&_	Project supporting economic development outside of the Klamath Falls urban growth boundary	
TOTAL	POINTS		900	(Max total points possible: 1000)	
Reviewer Conflict of Interest:					
Comments:					
Do you recommend this project for funding:					
Full Funding PYES □ NO OR Partial funding: \$ 30,000					

Form # KCF 4008 Revised July, 2019

Dong Brown
Name of Reviewer

Economic Development Grant Application

Selection Criteria Summary
(Economic Development Advisory Committee scoring)

Score		Weight	Points		
(0-10)	9	X 20 =	1801	Does the applicant clearly demonstrate this project's economic development impact relative to the funds requested? (max points possible: 200)	
(0-10)	9	X 10 =	901	Is the project in support of or consistent with local or regional economic development plans? (max points possible: 100)	
(1-10)	8	X 5 =	401	Does the applicant have the ability to complete the project? Is management and/or administration capable? (max points possible: 50)	
(1-10)	8	X 10 =	80 ′	Does the applicant clearly demonstrate the extent to which this grant funding will bring other public or private funds to the project? (max points possible: 100)	
(1-10)	_7_	X 15 =	105/	Does the project deliver new, expanded or enhanced services, including bringing services to geographic areas of Klamath County that are not currently well served while avoiding duplication or displacement of existing projects, programs or funding? (max points possible: 150)	
(1-10)	7_	X 10 =	70′	Does the applicant clearly demonstrate how they will work with economic development partners to successfully complete the project? (max points possible: 100)	
(1-10)	8	X 10 =	801	Is there demonstrated community and in-kind support? Is there evidence of in-kind support? (max points possible: 100)	
(1-10)	8_	X 10 =	80.	Is there a strong evaluation method with measurable objectives? (max points possible: 100)	
SUB-TOTAL POINTS: 725 Sub-Total max points possible: 900)					
Add Prefe	erence Po	oints			
(0-100)			Ø_	Project supporting economic development outside of the Klamath Falls urban growth boundary	
TOTAL	POINTS		715	(Max total points possible: 1000)	
Reviewer Conflict of Interest:					
Comments: Looked over these webside and product live					
And good Fix Klarath County					
Do you recommend this project for funding:					
Full Funding YES P NO OR Partial funding: \$ 20,000					

Economic Development Grant Application Selection Criteria Summary (Economic Development Advisory Committee scoring)

Score		Weight	Points		
(0-10)	_8_	X 20 =	160	Does the applicant clearly demonstrate this project's economic development impact relative to the funds requested? (max points possible: 200)	
(0-10)	9	X 10 =	90	Is the project in support of or consistent with local or regional economic development plans? (max points possible: 100)	
(1-10)	8	X 5 =	40	Does the applicant have the ability to complete the project? Is management and/or administration capable? (max points possible: 50)	
(1-10)	10	X 10 =	100	Does the applicant clearly demonstrate the extent to which this grant funding will bring other public or private funds to the project? (max points possible: 100)	
(1-10)	9	X 15 =	135	Does the project deliver new, expanded or enhanced services, including bringing services to geographic areas of Klamath County that are not currently well served while avoiding duplication or displacement of existing projects, programs or funding? (max points possible: 150)	
(1-10)	8	X 10 =	80	Does the applicant clearly demonstrate how they will work with economic development partners to successfully complete the project? (max points possible: 100)	
(1-10)	Q	X 10 =	90	Is there demonstrated community and in-kind support? Is there evidence of in-kind support? (max points possible: 100)	
(1-10)	_8_	X 10 =	80	Is there a strong evaluation method with measurable objectives? (max points possible: 100)	
SUB-TOTAL POINTS: 5 (Sub-Total max points possible: 900)					
Add Preference Points					
(0-100)			Φ_	Project supporting economic development outside of the Klamath Falls urban growth boundary	
TOTAL	. POINTS		775	(Max total points possible: 1000)	
Reviewer Conflict of Interest:					
Comments:					
Do you recommend this project for funding: YES □ NO					
Full Funding □ YES □ NO OR Partial funding: \$_\(\frac{1}{25}\), \(\frac{1}{25}\)					

Fiburligh Name of Applicant

John C Drisco Name of Reviewer

Economic Development Grant Application Selection Criteria Summary (Economic Development Advisory Committee Scoring)

Score	Weight	Points		
(n-1n)	20		Does the applicant demonstrate the project's economic development impact relative to the funds requested?	
(0-10)	10		Is the project in support of or consistent with local or regional economic development plans?	
(0-10)	5		Does the applicant have the ability to complete the project? Is management and/or administration capable?	
(0-10)	10		Does the applicant clearly demonstrate the extent to which the county economic development grant will bring other public or private funds to the project?	
(0-10)	15		Does the project deliver new, expanded or enhanced services, including bringing services to geographic areas of Klamath County, that are not currently well served, while avoiding duplication or displacement of existing projects, programs or funding?	
(0-10)	10		Does the applicant clearly demonstrate how they will work with economic development partners to successfully complete the project? Is there demonstrated community support? Is there evidence of in-kind support?	
(0-10)	10		Is there a strong evaluation method with measurable objectives?	
SUB-TOTAL PO	DINTS:			
Add Preference F	Points			
(0-100)			Project supporting economic development outside of the Klamath Falls urban growth boundary	
TOTAL POINTS	6	800		
Reviewer Conflict of Interest:				
Comments:				
			1 100	
Do you recommend this project for funding: 🗆 YES 🗆 NO Partial funding: \$ l , 0 0 0				

Name of Applicant Gut Fire Starters

Economic Development Grant Application Selection Criteria Summary (Economic Development Advisory Committee scoring)

Score		Weight	Points		
(0-10)	10	X 20 =	700	Does the applicant clearly demonstrate this project's economic development impact relative to the funds requested? (max points possible: 200)	
(0-10)	10	X 10 =	100	ls the project in support of or consistent with local or regional economic development plans? (max points possible: 100)	
(1-10)	9+0	X 5 =	45	Does the applicant have the ability to complete the project? Is management and/or administration capable? (max points possible: 50)	
(1-10)	10	X 10 =	100	Does the applicant clearly demonstrate the extent to which this grant funding will bring other public or private funds to the project? (max points possible: 100)	
(1-10)		X 15 =	150	Does the project deliver new, expanded or enhanced services, including bringing services to geographic areas of Klamath County that are not currently well served while avoiding duplication or displacement of existing projects, programs or funding? (max points possible: 150)	
(1-10)	8	X 10=	80	Does the applicant clearly demonstrate how they will work with economic development partners to successfully complete the project? (max points possible: 100)	
(1-10)	8	X 10=	80	is there demonstrated community and in-kind support? Is there evidence of in-kind support? (max points possible: 100)	
(1-10)	8	X 10=	80	Is there a strong evaluation method with measurable objectives? (max points possible: 100)	
SUB-TOTAL POINTS: 935 Sub-Total max points possible: 900)					
Add Pre	ference Po	oints .			
(0-100)	•		·	Project supporting economic development outside of the Klamath Falls urban growth boundary	
TOTAL	POINTS		835	(Max total points possible: 1000)	
Reviewer Conflict of Interest:					
Comments:					
Do you recommend this project for funding: YES □ NO					
16.00					
Full Funding ☐ YES ☐ NO OR Partial funding: \$					